	Sčítání a odčítání úhlů – I




α = 56°+ 68° =				 ϑ = 148°- 62° = 
β = 120°+ 43° = 				 μ = 310°- 157° = 
γ = 108°+ 99° = 				 π = 71°- 23° =
δ = 159°+ 28° = 				 ρ = 158°- 122° = 
ε = 264°+ 116° = 				 φ = 300°- 195° =
ω = 24°15´+ 38°24´ = 			 τ = 147°37´- 52°36´ = 
σ = 69°+ 12°25´ = 				 θ = 264°42´- 120°30´ = 
τ = 98°45´+ 23°15´ =				 ζ = 60°41´- 15°50´ = 
η = 192°37´+ 56°40´ = 			 ψ = 147°12´- 100°36´ = 

λ = 73°37´+ 25°25´ = 			 ξ = 82°- 29°11´ =




	Sčítání a odčítání úhlů – II


A						B
25  67 =					56  32 =
2030  45 =				3520  80 =
6712  3020 =				5030  70 =
4010  2030 =				8020  430 =
2130  7620 =				3310  4840 =
1206  4429 =				5443  1307 =
9026  4518 =				3624  6918 =
6135  2012 =				4213  7328 =

C						D
2030  2525 =				5420  7810 =
1635  7810 =				2040  9017 =
12010  5045 =				1745  13510 =
712  6735 =				5029  4012 =
805  4250 =				6045  910 =
230  2025 =				18 330 =
1030  20= 				4015  3015 =
615  5025 =				9920  225 =




	Sčítání a odčítání úhlů – III


A						B
2530  12 =				3440  30 = 
5646 32 =				6245  23 = 
6030  2320 =				7520  2020 = 
4920  3419 =				8945  6740 = 
9756 8640 =				 5550  5230 = 
14020 6715 = 				12843  8040 = 
13419  89 =				9915  87 = 
7546 6839 =				4654  3849 = 
C						D
4540  27 =				6440  53 = 
7354  60 =				7932  67 = 
6043  45 =				5043  3230 = 
4835  2320 =				3629  1519 = 
7030  6721 =				12056  6446 = 
9845  6434 = 				10334  9810 = 
14353  78 =				15636  97 = 
14952  3429 =				12450  6442 = 


	Sčítání a odčítání úhlů – IV


A						B
4530 2130 =				6730  2930 = 
5050  4510 =				3540  2020 = 
7545  4043 =				14850  2745 = 
2035  13056 =				9935  5450 = 
68  4530 =				54  5030 = 
90  7632 =				90  6315 = 
3420  2150 =				4310  3540 = 
10730  7645 =                          	10540  6855 = 

C 						D
4030  2330 =				80302430 = 
7820  2440 =				4540  7520 = 
2450  7543 =				7534  750 = 
10456   2034 =			12035  2356 = 
65  4530 =				34  2930 = 
90  5624 =				90  7648 = 
7836  6056 =				4528  3545 = 
12032  4552 =				13442  7656 =
